Ceun oA solun ot aua
/4{/%4./37!0@ -
1) szv 5)(4——5 )(s-ei i L x (gL{:—e%&\

X =) <00 X €92
IRTEVREE

L) x—-—%——oo( > it +faf VYUY

v,) L Lop U‘f sLK) — _g/(l{mew

X 2 X Su~ ¢

S5 xo9n» S x 2 2 "Qﬁfy(’(‘h%u&)_gi
(,&sz e el

it Den (- - D=4
A T, " ap () =

X307
‘,%A_;V; ‘E)( JA&C (X +L>>—

—J/\ d?xt('QO}K L & X ﬁog(lf)(s)
JZN 8x‘%\< o 4 xE Ly (4R
v

Ces fmmw
N(b R K =0 . \7\9Qg\/\ﬁ‘/

yo o X< K= K



Ao cer X =S X _  Ad—Gwm X . SwX _
3 % 3 X

— X A(rrux ) — 1
jAW?L\’U’\e“W’QQ/ s i



X'\Lﬁgxl—L—)
Queds ()= <=2 T
4
)’/) ‘;g/:;’*ﬁv ,Q,ooa?(, :

Y L Lo I«Q/e x|
l-an(}Kll/x—; ¥ %C ¢ >
Ckmdwou.u,o «Q/(O/Dépv\udi X )9+

e g (g xl) = = gl
*90 —+OO ﬁ\%‘&ﬂ
X%QJV ( \ T

7&—)+OD ,Q,:( FLx =
g(+ 5,(@ +2_> <« S X

e x (2R >g<) T
X + Lo& @f (4&%}) S X

HHE §’CL+ st Stgx)

K+ Qog J Lop (4&%)@8»05
) At )
AL L 4 L A+ 2 SR

Al~t-ghi o)

—




~—

9

zc—ﬂeao

\Q

=t
4

‘Q/

2z - 4
2

——

————

(x+ﬂ)&u&

)(("{*E _L,> e

|

EE
X

X oo oo Couto 0 qu)\ﬁ,&,\

Pal

XD+
-’é’:% U&“)O aen:

’ A A Suw
‘)SA_AS\J‘CQ; X M_K VAREAS Y (%)
X [45 | 4 = 4

\JN)Q \3 §

SN Lo nelevele
r Do Lz 54
| =
@wwa\/(
R » _ 4
K+ 0 5


Monica Motta

Monica Motta

Monica Motta


ATTENZIONE:
qui si ha sin(5y)
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per cui il risultato è 5
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